
MAT2440,	Quiz5,	Spring2025	
	

ID:______________________________________        Name:_________________________________________ 

1. True or False. 

_____ (a) Let ! = #1, {1}( be a set. Then |!| = 2. 

_____ (b) + ∪ -....... = +	0 ∩ -. . 

_____ (c) There exist sets + and - such that + − - and - − + are Not disjoint.  

_____ (d) A function 3 is invertible if 3 is bijection. 

_____ (e) Let 3:	ℤ → 	ℤ be such that 3(8) = 28. Then 3 is invertible. 

 

2. Let 3:	ℝ → 	ℝ be such that 3(8) = 38 + 5. Is 3 invertible, and if it is, what is its inverse? If  

    it is not invertible, why? 
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First to show f is invertible it is equivalentto show f is bijection

To show is teton
Letfia feb we have 39 5 36 5 a 3b s

Therefore sincethesameoutputgets thesame input f is oneto one

To show f is lonts Let y fx wehave y 3 5

yEIR we have y 3 5 3 4 5 155 ER

since for all real numbers y YI is realanditimplies
is a real number for all y

Therefore all output can find an input


